
 

 

 

 

!þþG ÿþ' 'ÿþÿ*þ 'ÿþ7' ÿþÿþþ*þ ÿþÿþ ÿþÿ89þ 'ÿþþþþþþ� NÿABC ÿþÿþþ6 'ÿþþþþ ÿþÿ*þ 7ÿþ ÿþO ÿþ7/ 
'ÿþNCÿþ� ÿP ÿþÿ*þ ÿþTþAþÿþ� ÿþþþ!þ 'ÿþXþ. ÿZ[Aþ ÿþ ÿþ' 'ÿÿþ7 'ÿþþG. 
'Nÿ- /77 'ÿþþþ7  )10ÿþþ(: 

1. !þ*þ 'ÿþþþ'F ÿP ÿþab 'ÿþþ'ÿþ 'ÿþÿþ ÿþÿþ� ÿeþþþ !þþþ ÿþ Xþ'!þ 'ÿþþ 'F ÿþ' 'ÿþþab !þþþ 
'ÿþþþ 'ÿ*þ ÿþ ÿþþ. ÿþþþ//. Nÿþ*þ ÿþÿþ !þNC6 'F !þ77 'ÿrþÿþ ÿþþ/ ÿþþ/ /ÿÿ. ÿþþþG 
'ÿþþ'ÿþ.)1 F( 

2.   

• 'ÿþþ'ÿþ ub
v 'ÿþþþÿwxb 'ÿNz N'ÿþþÿ*þ ÿþ 'ÿþþ: 

- 'ÿþþ'ÿþ }v 'ÿþþ' 'ÿNÿ8[þ ÿþþþþ ÿþ ÿ*þ ÿþ ÿþþ 6'. ÿþ/!þ ÿþþþ ÿþþNx' ÿþþþþ ÿþ 
'ÿþþ'ÿþ 'ÿ!þÿþÿþÿ*þ� N'ÿþ*þ7'. 'ÿþ*þÿ*þ� N'ÿþþþ7 'ÿÿþþþÿ*þ. ) 0.25 F( 

- 'ÿþþ'ÿþ }v ÿþþ  'ÿþ&[þ 'ÿþþ!þ/ ÿþ�þþF 'ÿaC
v  ÿþþG  ÿP 'ÿþZ[þ. ) 0.25 F(. 

• 'ÿþAþ&F 'ÿþþ'F !þþG ÿþþþþþ ÿþþ7 'ÿþþ'ÿþ: 

- ÿAþ' 'ÿþþþ 'ÿþþ/N 'ÿþþ. ) 0.25 F(. 

- ÿAþ' 'ÿþZ[þ 'ÿþþ/!þ N'ÿþ*þÿ*þ. ) 0.25 F(. 

3.  : 
- 'ÿþþ'ÿþ }v ÿþN/ 'ÿþþ/ N'ÿþþ!þ N'ÿþþþ7 ÿþþþ. ) 0.25 F(. 
- 'ÿþ7ÿþ 'ÿþÿab

v ÿþ 'ÿþ� 'ÿþþ�b N'ÿþþþ�  'ÿþN !þþþþ /ÿþþÿ*þ 'ÿþþþ7� N'ÿþþ*þþ ÿþ 
'ÿþÿþ 'ÿþþ�b

v� N'ÿÿþþþF ÿþþ. ) 0.25 F(. 
- 'ÿþþþ. 'ÿaC

v ÿþNxb 'ÿþþ'ÿþ }v 'ÿþþ7[þ*þ� N'ÿþþþ7� N'ÿ�þ�*þ. ) 0.25 F(. 
- ÿþ*þ7 'ÿþÿþF 'z 'ÿþþ'ÿþ  ÿþ 'ÿþ�v Xþÿþÿþ� Nÿþ ÿþÿAþ Xþ ÿþ 'Xþ'? N'ÿþþþF. ) 0.25 F(. 

4. 'ÿþþþ 'ÿþþþ�v 'ÿþ'F ÿP 'ÿÿþ�þ7:) 'ÿþþþþ. ub
v 'ÿþþ'F 'ÿþþþ'. '78FFþ ;þþþ. ÿþþ ÿþ 

'ÿþþþ/.( 

'£TþþG 3 '!þþ/ 3 'Xþ'? 3 '�þþ 3 ÿþþþþ3 'ÿþ'/. ) 50.2 F × 4(.  

5.   
'. ÿþO 'ÿrþÿþ  'F 'ÿþþþÿþ. 'ÿþþXþþ ÿP 'ÿþþ'ÿþ ÿþÿAþþ Xþÿþ'. 'ÿþþþÿ*þ� NÿþN7 ÿþF 

'ÿþþ*þþ 'N 'ÿþþ*þþ 'N 'ÿþþNx/. )0.5F( 
.. ÿþÿþ 'ÿþþ'ÿþ  Xþÿþþþÿþ. 'ÿþþXþþ ÿþþþþ }v ÿþÿþ ÿþ*þþ  N'ÿþþþF. )0.5F( 
.. 'ÿþ© 'ÿrþÿþ ub

v ÿþZ[þþ ÿþþþ'ÿþ 'z  'ÿþþ  ÿþ ÿþþ� ÿþþG ÿþþub
v ÿþ!þ� ÿNþNþ 'ÿþþþNx ub

v 
'ÿ�þþF ÿþÿþþ� Nÿþ ÿþþ ÿþÿ*þ� }v ÿþþ 'ÿþ'/ ÿþÿþ ÿþ 'ÿþþþ N'ÿþþþ� N'ÿþ'. 

N'ÿþÿþ/� N'ÿþ*þ N'ÿþÿþÿþ� NÿNxW ̄þ ÿþ'ÿþ 'ÿþ*þ/ 'ÿ±²³[þ ÿþþNx' ÿþ7[þ. )0.5F( 
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'ÿÿþþþF 'ÿþþþN 'ÿþþÿþ ÿþþþþ 'ÿNS ÿþ ÿþþ 

'ÿIJþÿþ7Kþ 
'ÿþN7/ 'ÿþþ/Xþ 2024 

ÿþ// 'ÿþþþ 'ÿþZ9*þ 
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6. 'ÿþN'Xþ 'ÿþþþÿ*þ : )'ÿþþþþ. ub
v 'ÿþþ'F  'ÿþþþ'. ÿþþF N'ÿþ ÿþþ ÿþ 'ÿþþ� ÿrþ 7'Xþ.( 

'. 'ÿþN'Xþ 'ÿþþþÿ*þ: 
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.. Nÿ*þþ 'ÿþN'Xþ 'ÿþþþÿ*þ: 'ÿZ9þ ÿwxb 'ÿÿ�þ7 N'ÿþþþ.  ÿþ 'ÿþ 'ÿÿþþ?. 
7.   ÿþ8[þ ÿþ7/  'ÿþNCÿþ ÿP:                                                                                                                                                                                                                 

-  ÿþþ 'ÿþþþ/. ) 1.5 F( 

- 'Xþ'' 'ÿþ'N 'ÿþþÿþG Xþÿþþþ. ) 1.5 F( 

ÿþÿ$þ- ÿþþG 'ÿþþþ ) 4 ÿþþ(: 
1.   

- 'ÿþþþþþ7 ÿþ: 'ÿþþ'ÿþ. )0.5(  

- 'ÿþþþþþ7 ÿþþ: 'ÿ�þþF. )0.5(  

-  'ÿþþÿþ: 'ÿþþþÿþþ. )0.5( 

- 'ÿÿþþþ7/ ÿþþ*þ.  )0.5 F( 

2. ÿþÿ*þ ÿþþþwxb ÿþ*þÿwxb�  N'ÿÿNCb'G Xþÿþþþþ. ub
v 'ÿþþ'ÿwxb. )1 F× 2 ( 

ÿþÿþþ- 'ÿ7þþ' N'ÿþþþ>? ) 6 ÿþþ(:  
      ÿOþ'� ub

v ÿþ8[þ 'ÿ�þþ' ÿþ !Pv:  
'. ÿþÿ*þ ÿþþ7/ ÿþÿþþ ÿþþ/ ) 4 F( 
.. ÿþÿþ 'ÿþþþ� N'ÿþþþþF ÿþÿþ. 'ÿNCÿ*þ ) 2 F (.                                                              
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